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14 |[FRARIHN 4 800
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17 (T 5) 1,110
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38 |\ RA R — L 4 1,000
39 |7TU—RZUR (2ffH) 35 1,310
40 |R—NH— 1 1,000
41 | AREEHE 7 1,850
42 |TUMTFH¥V— 16 4,990
43 |3LEFE 8 3,000
44 |F1—Fh 580
45 |HEAA 9 4,200
46 |BERE QTA T R 12 12,300
47 |BESH Q7TAUF i) 2 5,630
48 |BERE (274 F UAY) 6 10,400
49 |vUvTvBERE (24100 KE) 5 8,000
50 |BAIfTHESE (224F L3 —) 6 5,010
51 |vUvTVHERHE (224F 1K) 5 5,800
52 |RYvTvBERE (24A4F IR) 7 15,500
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54 |BEsE (181F H) 3 4,020
55 |BEsH (161F 7R) 5 5,000
56 |FVIAR—NK (F7 1) 7 600
57 |[IXTUAINAY 6 1,560
58 |FVIAR—R (T3 —) 5 1,310
59 | —#mE (161F ) 2 1,010
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